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) Find The Missing Place Value
To Form A 5-Digit Number

Fill the appropriate numbers in the blanks so that the sum is equal to the 5-digit number
given. We have done the first one for your reference

10000 + 1000 +100+ 60+ _____ =11167
+ 6000 + 100 + 60 + 7 = 16191

10000+____ +500+70= 11574
50000 + +700+ 0 +9=58709
1000+ 800 + 70 + =10709
20000 + +400 + 20 + 3 = 27423
10000+___ +300+___ +3=15323
20000+5000+__ +70+0=25470

2000 + +60+0=2260

+0+100+___ +2=27102
30000+ +700+__  +6=37756
____+8000+_____+0+2=28802
10000+ +800+___ +2=10872
60000+ ____ +200+___ +0=63220

70000 + 3000 + +0+0=73700
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